STAR LIKE BOWL K&15%8

202559 AKX EATa—l

B EA BN K& A 28 — GH BRE |WEA®
1| A 10:30 *50A%&&EIRT/MEBHEEERY) 1,800 12,000 3 BOXii%
1| B |13:30 JBASALTIEX—UT/M 1,800 | 2,000 3 | BARZYT |BOXHhE
1 A 1930 fBEITOASI=FrLIT/M 1,800 | 2,000 3 WEIO | BoXH:E
2 | K| 10:30 | HPHBTOI=ZF LU OT/MER) 1,800 (2,000 | 3 =tJ0  |BoxihE
2 | K| 13:30 HOLTAS=ZFALUCT/MR) 1,800 | 2,000 3 =t70 | BOXH:E
3 | 7K | 10:30 *50ANEBFVIFT/MEBEEEERY) 1,800 | 2,000 3 BOXHIE
3 | /K| 13:30 MBEITOLYRUAFET/M 1,800 2,000 3 WEIO | BOXHmE
4 | K| 10:30 *50ANEFVIFT/MEBELEEERY) 1,800 | 2,000 3 BOXHIE
4 | K 1330 &obvAEIIDIAT/M 1,800 12,000 3 | E#HRAYT |BOXiE
5|4 |10:30 | k50 AEBFVINT/MEBEEEARY) 1,800 | 2,000 3 BOXH;E
5 | & | 13:30 HPHETAI=FrLUIT/M 1,800 2,000 3 =t70 | BOxiE
6 | I |10:30 |EAKLATILRT/M 1,800 |2,000 |2+1+1 L5
6 | I |13:30 Bk @TOFvLOY EOH 3,000 | 3,300 4 |®wrewso | BH
6 | I |18:00 ®i @TOFrLUT EQH 3,000 |3,300 4 | #xwET7o | BH
7 H 10:30 BA&REE"4AT—LT/M 1,900 2,100 4 BOXi&
7 | B 13:30 | A TRAVIEEITLIZ=T/M 1,800 | 2,000 3 | #FR%y7 [Boxim®
7 | B | 18:30 [FoFrLaTLAT/M (EEAEFIOaREEATD) (2,600 (2,800 [2+2+1| BZDS |L-vamm
8 | A 10:30 *50AEBEIFT/MEBLEERY) 1,800 12,000 3 BOX#i%
8 A |13:30 MBETALYRUAFET/M 1,800 2,000 3 WEIO | BOXHE
8 A 1930 EIOI=F¥L2IT/M 1,800 12,000 3 WETO | BOXME
9 | X 10:30 | AS0ANEBEVINT/MEBLEERY) 1,800 2,000 3 BOXii%
9 | X | 1330 |BRDTYF—,LFBIFLIZT=T/M 1,800 12,000 3 | @\EBREYT [BOXHE
10| 7K | 10:30 *50A%EFELIFT/MEBLEERY) 1,800 2,000 3 BOXii%
10| 7K | 13:30 JEASALTIEX—2T/M 1,800 | 2,000 3 | BARZYT |BOXihE
11 K| 10:30 *50AEFEIFT/MEBLEERY) 1,800 2,000 3 BOXii%
11 K| 13:30 | &oBpALEIYDaAT/M 1,800 12,000 3 | F#HRAYT |BoXimE
12| & | 10:30 *50AEFLIFT/MEBLEEERY) 1,800 | 2,000 3 BOX 3%
12| & | 13:30 | BBEI—FLYRUAFET/M 1,800 | 2,000 3 | E&ERSYT [BoxinE
13| £ 10:30 A KLATILRT/M 1,800 2,000 |2+1+1 LR
13| 1| 13:30 BAF—LEBU—IZRE 1,600 | 1,800 3 BOX 3%
13| £ 18:30 FIERAYIFYLUIT/M 2,500 2,700 4 | FiER%y7 |BOXHE
14| H|10:30 | *50A%EESIFT/MEBELEBERY) 1,800 | 2,000 3 BOX##;%
14| B | 13:30 [BASYRFSHE—Z=F ¥ LU ST/M 1,800 2000 | 3 |@EARZy7 |Boxime
14| B |18:30 | =ZEt¥ETOFvLID 2,800 3,000 4 |=t®zJo|BoximE

10:30 [ X 50 AEF I IFT/MEBEEERY) 1,800 | 2,000 3 BOXi#;%

13:30 [RETOI=FrL U PT/M 1,800 | 2,000 3 WESO | BOXHE

15:30 NBF&JBAHIR(GL-VEENXEBDAHS M | 2,000 2,200 3 BOXif:®

19:30 [NBF &JBHES(1GL-V#ENXHTHLS M| 2,000 | 2,200 3 | #wEHRYYT |BOXE
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16| N | 10:30 *50AEFEIFT/MEBLEBERY) 1,800 2,000 3 BOXii%
16| A | 13:30 BRDTYyF—EKRIFESIZZT/M 1,800 | 2,000 3 | #EHREYT |BOXHmE
17| 7K | 10:30 A 50 ANEFLIFT/MEBEEERY) 1,800 | 2,000 3 BOX 3%
17| 7K | 13:30 |&obpALIUDaAT/M 1,800 | 2,000 3 | Emzsy7 |Boxi®
18| K| 10:30 HPHTAS=F¥L 2 IT/MEA) 1,800 | 2,000 3 =t7n  |Boximi#E
18| K| 13:30 | HOHETOZ=FrLUOT/MR) 1,800 12,000 3 =t70 | BOXiHE
19| £ 10:30 x50 A%ELTFT/MEELEEEY) 1,800 2,000 | 3 Boxii|
19| € 13:30 | HPLHETOI=FrLUOT/M 1,800 12,000 3 =t70  |BoxHmE
20| £ | 10:30 |G KLATILART/M 1,800 2,000 | 2+1+1 L5
20| £ | 13:30 |&FHETOFrLUY FOH 3500 3,800 | 4 |#¥®E7 n BH
20| £ | 18:00 | FHEIOFvLoP FEQOH 3,500 3,800 4 |&¥wmE- o0 HH
21| H | 10:30 | x50 AEEFELIFT/MEBEEERY) 1,800 12,000 3 BOX3i&
21 B | 13:30 |7/L—YEl=EZDKE 2,600 2800 | 4 BOX4;E
21| H | 18:30 |3 A+F STAR LIKE BOWL T/M 3,100 |3,300 4 WEIO | BOXimE
22 A 10:30 | x50 AEFIFT/MEBEEERY) 1,800 2,000 3 BOXi%
22| A | 13:30 | RBETALYRUAET/M 1,800 (2,000 3 WESO | BoxiE
22| A | 19:30 | RO yF—3=FvLUIT/M 1,800 | 2,000 3 | BE#HZR4YT |BOXHE

10:30 |SREEIZEM DI /AU FYIGT/M ¢ 1,800 12,000 3 BOXiH;E

12:30 SREEI=E D RHUrS kS * 11,300 (1,300 | 2 BEH

13:30 [BEAMV RN UR—E=FvL U PT/M 1,800 12,000 3 | BARSYT |BOXHhE

18:30 |fBEEZEATOFYL D 2,800 13,000 | 4 |mEEBAID BOXHE
24| 7K | 10:30 | A 50 AEFESIFT/MEBLEEARY) 1,800 12,000 3 BOXii%
24| 7K | 13:30 | HHETAS=F YL OT/M 1,800 | 2,000 3 =t70 | BOXHE
25| K| 10:30 | Ak50AEFELIFT/MEBLEERY) 1,800 12,000 3 BOXii%
25 K| 13:30 | &obpALEIVDIAT/M 1,800 | 2,000 3 | EMREYT |BoXi#;E
26 & | 10:30 | k50 AEFEVIFT/MEBLEERY) 1,800 | 2,000 3 BOX 3%
26 % 13:30 EIOLYRUAFET/M 1,800 2,000 | 3 WESO | BoXxdE
27| £ ]10:30 |EHKLFETILAT/M 1,800 (2,000 |2+1+1 L%
27| 1 | 13:30 | £/ FEHZTOF LY BEOH 3,300 3,600 4 |s#rFawvn HH
27| 1 | 18:00 | £/ FEHTOF LY HEOH 3,300 3,600 | 4 |#rFawyn BH
28 H | 10:30 |/N\—RT—T/M 1,800 2,000 3 BOX ;2
28| H | 13:30 |&oBHAZ=FrLUIT/M 1,800 12,000 3 | E#HRAYT |BoXimE
28| B | 18:30 [#MEBEEBOIyF—FvrL oD 2,800 |3,000 4 | EHRYYT |BOXIE
29| A |10:30 [ XS50AEBLINT/MEBELEEAY) 1,800 2,000 | 3 BOXiR
29| A | 13:30 |RBETOLYRUAAET/M 1,800 2,000 3 WEIO | BOXHE
29| A | 19:30 | RO yF—3=F¥LIT/M 1,800 12,000 3 | ‘E#R4YT [BOXHE
30 X | 10:30 | HHETOZI=FrLUIT/ME) 1,800 | 2,000 3 =t70 | BoxHE
30 X | 13:30 | HeHETOZ=FrLUOT/MR) 1,800 | 2,000 3 =t70 | BoxHmE



